
P
U

43 42
22

11

3

21

6

Technical Sheet / Datos técnicos:

Purpose / Propósito: To transfer the braking demand between the truck and trailer ensuring a 
coordinated braking between both vehicles. This valve contains a service brake line and a parking brake 
line. In case of breakage of the brake line between both vehicles, an emergency function is enable to 
produce a throttling of air supply from the truck to the trailer ensuring a maintenance of pressure of the 
brake circuits of towing vehicle. / Transferir la demanda de frenado entre el camión y el remolque 
asegurando una frenada coordinada entre ambos vehículos. Dispone de líneas de servicio y freno de 
estacionamiento. En caso de rotura de la línea de freno entre ambos vehículos se acciona una función 
de emergencia en la que se produce un estrangulamiento de aire desde la alimentación de la cabeza 
tractora hacia el remolque asegurando un mantenimiento de la presión en los circuitos de freno de la 
cabeza tractora.

Installation requirements / Requisitos para la instalación: The valve must be installed so that the 
exhaust port faces downwards. The valve should be mounted through three M8 mounting bolts. / La 
válvula debe instalarse para que el escape señale hacia abajo. La válvula debe montarse mediante los 
tres pernos de montaje M8.

Part number adaptable to / Referencia adaptable a 4802040020

Permissible Medium / Medio de funcionamiento Air / Aire
Operating pressure  / Presión de trabajo max. 13 bar
Voltage / Voltaje 24 V 
Operating temperature range / Rango de temperatura - 40 C a / to +80 C
Weight / Peso 3050 gr

Port / Conexión Function / Función Thread / Rosca
11 Supply / Alimentación M22x1.5
21 Trailer supply line / Línea de alimentación del trailer M22x1.5
22 Trailer service line / Línea de servicio del trailer M22x1.5
42 Control pressure service braking system / Pilotaje del 

freno de servicio M16x1.5

43 Control pressure parking braking system / Pilotaje del 
freno de estacionamiento M16x1.5

6 Pressure sensor / Sensor de presión Bayonet DIN 72585 A1-7
3 Exhaust / Escape Silencer / Silencioso

1

F

E

D

C

B

A

1

2 3 4

F

E

D

C

2 3

B

A

4

PG/18/02  rev.1

          

ReasonDate
         

Modified

      

nº
1

2

3

4

         

Comments

M
od

ifi
ca

tio
n

-

Material
-

General Tolerance

Drawn
14/05/20 R.A.
Checked
14/05/20 O.V.
Assembly
Part name
ID. Reference
Scale: -
Review: 0

2233000
Trailer control module
-

Sheet 
1/2



 7
3 

±1
 

 133 ±1 

 119 ±1 

 78 ±1 

 147 

 20 

M8(3x)

 60 ±1 

 18 ±1 
 18 ±1 

 51 

 119 

 92 ±1 

 77 ±1 
 1

07
 ±

1 

 52 
 1

83
 

 1
13

 ±
1 

 6
6 

±1
 

 1
00

 ±
1 

22
M22x1,5

21
M22x1,5

43
M16x1,5

11
M22x1,5

42
M16x1,5

 8
0 

±1
 

 80 ±1 

 4
2 

 1
50

 

 114 

 1
35

 ±
1 

 1
48

 ±
1 

6.1

6.2 6.3

6.5

6.4

PIN FUNCTION / FUNCÍON
Pressure sensor / Sensor de presión

6.1 Ue+
6.2 GND
6.3 Signal / Señal

Solenoid valve / Electroválvula
6.4 High / Alto
6.5 Low / Bajo

A

8

B

765

C

D

E

F

875 6

431

A

B

2

43

C

D

E

1

F

2

Sheet 
2/2

2233000
Trailer control module
-

Review: 0
Scale: 1/2
ID. Reference
Part name
Assembly

-

Material
ISO 2768 c-K

General Tolerance
14/05/20 O.V.      
Checked
14/05/20 R.A.  
Drawn

Reason
         

Date
           

Modified
          

         

Comments
nº
1

2

3

4

M
od

ifi
ca

tio
n


	Hoja1
	Vista de dibujo12

	Hoja2
	Vista de dibujo6
	Vista de dibujo7
	Vista de dibujo8
	Vista de dibujo9
	Vista de dibujo10
	Vista de dibujo13


